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1.5B: Working with Radicals - Day 2

Ex. 1 Multiply each of the following:

~ N

How? Distributive Property.
) 4‘5(2\@_ 3\5) May need to simplify after multiplying.
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b) (2+3 =5 J4/3 +2/5) o (v5-+3f
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= 20~ Yz +3
= 33 - ufE
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Ex. 2 Simplify each of the following: BEDMAS

a)  12+3J12 How many terms are in the numerator?
4 Can the 4 be divided out?
_ 12 +bd= _2 kR o> 2 b 34=
o “ Y > 2
= 433

What is the GCF between 4, 6, 127

L/

b) 15i35 +—— Look familiar? Qucd %(mu\o\ ‘,
_ 30
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Ex. 3 Simplify - Rationalizing Denominators

l
a)i \_g; b) i B c) 5\/5 = \/TZ
5= W2 o 215420 3208
_&ls _ 3o R
s P 30 G
- 30
g = I
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What if the denominator is a binomial?

f 5 200 + ﬁ You must multiply by the conjugate.
9463 IGW The conjugate of a + bisa-b.
= Change the sign between the two terms.
_ o, + SU=
40 -2 Why conjugates?
See a familiar pattern?
= ic+s iz . .

Lo avoid o muddle term n
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Homeweork

Heoandoewt

R

Aww, how cute. He has

DE. an imaginary friend! |
& *
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